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SOLUTIONS REVIEW
FPart A: Definitions
Agqueous Solute Solvent
Homogeneous Solution Unsaturated Solution Saturated Sclution
Molarity Acid Base
pH
Part B: Concentration Calcilations

1. Determine the molarities of the following solutions:
a. 2 mol of sodium chloride in 1.5 L of water,

Nn= Qm.) n - 3 _ 33
vorsL (=N TS |13 ™)

b. 15 g of sodium chloride in 0.75 L of water 25 4
w4 mepasml s 22 2034 M)
Mm=585 . 0.3S T 0

c. 3 gof magnesium fluoride in a 200 mL aqueous solution

Uated | R gy = 0-0%bad CE T

2. Determine the number of moles present in the following solutions:

a. 2Lof 0.5M CaClae) b 300 mlL of 0.4 M Na(S0a4)
V=al -
ft0'5M n= (xV | V‘%‘Zt‘ n= C(xV
' = 2x0S =| Lml | c=o0 T (043003
PartC:  Diluting Solutions = o2 mol |
1. A stock solution of HCI has a molarity of 12 M. If one were to take 15 mL of stock

solution and add 485 mlL of water (to make a 500 mL solution), what wouldthe
concentration of the solution be?

(=M GaT Cw=CVa | €= 03611
Vizi5al  \p=Soval  (()(1S)= G (509

2. A stock solution of H2S0O4 has a molarity of 18 M. How many milliliters of stock
solution does one need to make a 0.4 M solution?
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1. Using the followang equation 1T &1 of a 20 solution of HCI reacts with excess Na.CO,

howy many arams of Lh will be [']lT]F]IlI"P('] ¢ II"I[']I"I t Tf'IITIPT 0 nﬂlﬂl"l("P]
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2 Aqueous silver I} chlorate reacts with aquecus magnesium chloride in a double
displacement reaction. If 500 mL of @ 2M solution of silver (I} ehlorate |s mixed with a
500 mL of a 3M soiution of magnesium chioride, how manv arams of precipitate are

formed? This emenmen[ creates an actual IBIG of 0.9 a of DreC|D|ta[e What is the
per cent \_,‘IBIU 7
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Part E: Acids and Bases ’
Property Acids Bases
Ion that is present in solution H+ ou*
Oxide (metal or non-metal) Noﬂ . M!“G\ Hd‘b‘

Eeactivity? (metal or non-metal) H{\_“‘ NW'MA“
Electrical conductivity YE P \/EP
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Chemical indicators: M/R
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c. carbonic acid H2 (03 d. percarbonic acid: H; CO-_-[

= e r i HC,O
B. PNnospnorous acid. I ‘2‘ I ’03 T. MypoCcmorous acid,

(%]

€. A solution that contains a 2.4 x 107° M of HaPO4

pH = -Iajf?.x 2.4x0°%) o 4.14

d. A 200 mL solution that contains 0.0014 mol ofsulfurous acid

‘- n o.0014 _ 0.00% .
VT 0 ph=-t
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completely with 10 0 mL of 1.5 mol/L lithium hydm)ﬂde

&

What is tha pH of the acid used in thi

Wat0y v 2LioH — 20+ Lig(os

is cuection?

C= 0.25H V= o.o(’f:' ' I { g]
n o085 -C=1\S ) R x0.25M = loqlo
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b. What is the pH of the acid used in this question?

MO0y + mglow)y — > 2 Ho Mg Ccton)y
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7. BONUS. The pH of acid rain is approximately 4.23 {carbonic acid). What volume of
sodium hydroxide with a concentration of 0.01M would be needed to neutralize 50 mL
of acid rain?
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